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Note :1) Question no 1 1s compulsory, solve any 3 questions from remam;nb 3
questions. _

2) Assume Suitable data whenever necessary. = N

3) Figures in the right indicate full marks. J

I. a) What is the need of virtualization? Define Server virtualization, ﬁppllﬁatmn 10
virtualization, Presentation Virtualization., -
b) Compare the REST and REST paradigms in the cunlexlrﬁufrprpgranﬂmauc 10
communication between applications deployed on cllfﬁ:a:é:nt clmﬁi providers,
or between cloud applications and those deployed in hquse\

|" &
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2. a) Explain conceptual representation of Eucalyplus c.],p@; :Expmm in brief the 10
components within the Eucalyptus system. .
b) What do you mean by Parallel and Dmtnbmeﬂj’rugmmmmb Paradigms in 10
detail? Explain about Hadoop Library fru;'i'u Ap@;;h& an detail?

_a-

3. a) What is Data Migration and which Lype {i‘f bﬂbf practices should be used to 10
protect data during a Migration. _ Wy

b) Discuss with example how to wr&fc TFHN agr"atmn using Map Reduce model. 10

4. a) How is Amazon D}'namn[lé difff:r\ént irom MYSQL database? Explain with 5§
respect to database deél‘gn @nciple
b) Compare the following 10
i) Bare-Metal ﬁyiﬂq}?ﬁm, Hosted hypervisor
ii) Grid C;”;inpu;iﬁg" Cloud Computing.
¢) Whatare iecuﬂ{y gruuph & 'key pairs'? What is there significance in Amazon
A WS c]c:-ud e‘pn:rpu;i.mg environment?

th

5. a) How d%x Ll&&d architecture overcome the difficulties faced by traditional 10
drc,hlmlllf&,
Wh&t are) the three differences that separate out cloud architecture from the
Eﬂdﬂlﬁﬂzﬂﬁ?’
bl Exﬂiam the two fundamental functions, identity management and access 10
. *ﬁbor&r“‘ which are required for secure cloud computing,

f.-
i -

(‘" %}\ Whal 1s cloud computing? Enlist and explain three service models, and four 10
\‘j ! deployment models of cloud computing.
““b)  Write short notes on ; 10
1) Authorization management in cloud computing
11) Challenges in, mobile at cloud shields.



